| rogmHa Jomahu 3apaTtak 6poj 3
(dopmyne 3a 36up 1 pasnnKky Kybosa)
a® + b3 = (a+b)(a? —ab + b?)
a3 — b3 = (a—b)(a? + ab + b?)

1.  Kopwuctehu dpopmyne 3a 36up 1 pasnnky Kybosa pactaBuUTU Ha YnHMoLe creaehe

noAnHoOMeE:

a) a®—8§;

6) 64a3+1;

B) 8x3—27y3;

r) x3— 64a3y3;

n) 8x3a3+y65;

H) 0,064 — x3;

e) 0,008 +0,001x3;

Pewera 3agaTaka:

1.

a) (a—2)(a?+2a+4);

6) (4a+ 1)(16a2 — 4a + 1);

B) (2x — 3y)(4x? + 6xy + 9y?);

1) (x —4ay)(x? + 4xay + 16a?y?);

n) (2xa +y?)(4x%a? — 2xay? + y*);
H) (0,4 —x)(0,16 + 0,4x + x?2);

e) (0,2 + 0,1x)(0,04 — 0,02x + 0,01x2);

W (-5 G e+ )
) (+9) (537 +v7)s
n) (—2x —3)(13x% — 15x +9).



